Al

to go outside today.

Answer:

You an umbrella.
Answer:

He wearing a jacket.
Answer:

She to wear gloves.
Answer:

It snowing.

Answer:

We going to the beach.
Answer:

They swimming in the pool.
Answer:

The sun shining.
Answer:

The wind blowing.
Answer:

The sky cloudy.

Answer:




Answers

I to go outside today.
Answer: want

You an umbrella.

Answer: need

He wearing a jacket.
Answer: is
She to wear gloves.

Answer: wants

It snowing.

Answer: is

We going to the beach.
Answer: are

They swimming in the pool.
Answer: are

The sun shining.
Answer: is

The wind blowing.
Answer: is

The sky cloudy.

Answer: is



